I TR TEN=er VT T ST,
TETI — 226010
UG- 05 /05/hFIEX STV (SRE)/2022-23/04-08121/2022
AETS: TEqieh- 0.9 e, 2023
STETAH FAT
SR o R SE-04-T8E1/2022, TRitWeh SEaT Wia (Preliminary Eligibility
Test-PET)-2022 st feieh 15 9 16 319z, 2022 1 Yedieh o &1 quferit (srom wreft 10:00 AM
TO 12:00 PM & feeftar wreft 03:00 PM TO 05:00 PM) & wva= farflad wder 3 300 3
Wﬁwﬁa%ﬁmm@wqﬂaﬁwﬁaﬁ%&aﬁ%mﬁ ST ST T
HEAT-68/05/HFIL AN (IRE)/2022/04-00e11/2022, i 12-12-2022 =1 i
JeTETZE qra:rqrvﬁ:cra?rm%%m
SYUHER feie 12-12- 2022 FT AUAIS T WA I helt H @rder g SRR
ﬁw%wq&mqﬁ&ﬂ%ﬁﬁ:@mﬁaﬁqﬂmﬁﬁmﬂmﬁﬁﬁww
amﬁia%%mﬁwafa@mﬁéwhﬂp :/fupsssc.gov.in T 3TTeIIS HT T TR 2 |

HeA™h- FAT | 1£
° 2
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3a? uer areferver Aar T SRNOT, A
URfders 3rdar udtem (PET)-2022
=T IR Q?_vﬁ (Master Set)

f&=ie forcitar areft

16.10.2022

ST % Ueh U i AT TRy |
KIEK]

Write the name of a port of Harappa.
Lothal '

S el <61 T gt e g R
afea

The most important fundamental principle of Jainism is :

Non-violence

freferfier o @ forq wmeeh o S & wga @ fgr! & ‘oot % 9 U JTeisha foRaT TR T 7
e 1

In court of which among the following rulers, numerous scholars were adorned as ‘Navratnas’
?

Chandragupta II

feeett geaqa = Frafefaa toewt & @ forem Te@t & st ae e feen 2
Raersit

Which among the following dynasty of Delhi Sultanate ruled for the shortest time ?
Khilji

SR Wi o fifesr amrsa & fow Y ! oot § o |
TST | ICqTEYAT % HILTT o

Through the » Dalhousie annexed Awadh for the British empire in India.

State being maladministered

frerieriere o @ feproh T <1857 Y shifer <l yearma o T off ?
Ryerfeeat

“The Revolt of 1857” was started by whom among the following ?
The sepoys

01
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During the movement in Bengal, a tricolour flag (red, green and yellow) was

designed.
Swadeshi
8. Wil ohl TRl wifnet <t varm < fore, o=l T s o ek Raerrha wftifr 1 e fra
T T |
To defend the Khalifa’s temporal powers, a Khilafat Committee was formed in Bombay in
March
1919
9. IRG TR IfeFHem, 1935 % AR Y =mreher 3 ey fema =memefet ) figfe 61w of ¢
How many judges were appointed along with the Chief Justice according to the Government
of India Act, 1935 ?
6 %
10. fr=foiea o & wia it e 6 afifren § wra st sreler S T an ?
Torea forgmm <hY freran
In response to which of the following events Quit India Movement was launched ?
Failure of Cripps Mission
11, rered weid 2ot o T e Rrer s ar g ¢
TeRRER
The highest point in the Aravalli range is :
Gurushikhar
12.  vfswentet § Sl AT 8 g arelt Yo e @ ;
B8
The wind blowing in the northern plains in summers is known as :
Loo
13.  ¥Rd Sl THh- A= W 2
82° 30" Y, QIR
The Standard — Meridian line of India is :
82° 30' E longitude |
14. ST % Frferiad # @ fora Rt o “Yfrmoa” diefem smafem 27
Hiarg
In which of the following districts of Uttar Pradesh is “Naimisharanya” Pilgrimage situated ?
Sitapur
15.  hI9 |1 He8 Jelt e fer § 2
MASTER ' 3 ( ﬂ'”;%m‘:am ) 01
WNien M=

SR a1 T
IR

g |




© s
Which is the highest Indian peak ?
Kanchenjunga

16. =18 3nffes Afq b amrra fobrE s dled s H W IFTSETR |
New Economic Policy is also popularly called model of development.
LPG '
17. R HEf wwEl e R afgsui s dwn e ool aen % e A At R |
51 siferr
A government company is any company in which the paid up capital held by the government
is not less than :
51 percent
18. “GremTeh” T <t SuRinT fore & fepesh T g 8 ¢
S .
“Hallmark™ is used as a logo for which one of the following ?
Jewellery
19. N T rreior & W o —ieoT e el s e v weern d |
q1ee (NABARD) ‘
is a central or apex institution for financing agricultural and rural sectors.
NABARD
20. 1991 % 3niies guml 3 gro P 3 @ e ame <t o e R w7
Tergeht wgz e # Hahe
Which among the following was the issue being addressed through the Economic Reforms of
1991 ?
Crisis in Foreign Exchange Reserves
01 4 MASTER
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21, Frer ® @ wie o1 3R “oF Tadees” @l e e @ ?
ITeag 110

Write the name of Article which defines the Money Bill.
Article 110

22, 3 31reyt ¢ e e o ifort w61 Fmior s v e O we =i |
sy i & Freves Rigia

are the ideals that a state must keep in mind while framing policies.
Directive Principles of State Policy 3

23. o @ fopml wiferes shdel ol Seaifaa fram e @ ¢
-1V
The Fundamental Duties are mentioned in which among the following ?
Part-IV A

24, T Gl T 3G 343 fhash e T g 7
LLETREEIL
Article 343 of Indian Constitution is about :
Official language of the Union

25. T @ i oft wete =amarer < =mh 6 dan-figfy 6 el amg R 2
65 a8

Which among the following is the correct age of retirement of Judge of Supreme Court ?
65 years

26, MEA AR BT IEUN SO TN A THTTAE & ?
g

Which of the following is not among the seven colours of the rainbow ?
White

27, P i d Rew v ) et e 3w 3 7 T 2 2
AP

MASTER 5 & 01




Which of the following gases is not known as greenhouse gas ?
Argon

28.

i WveT ferurent =g - @ 7
Hifeam wEe

Washing Soda is the common name for :
Sodium carbonate

29.

3T Bt (Hole) fored waiftra @ 2
THATT el § 3N W hl AeE § &l @ |

Ozone hole refers to :
decrease in thickness of ozone layer in stratosphere.

30. Y 319 UISeh e Y <hal © ITH A & 7
g
Where do plants receive their nutrients mainly from ?
Soil
31. (625-223)x(3.35-223)+(0.0016—-2.987)=

1.517

32,

e e T & e o w1 o Rer i, ufes N be § 3ueh W= % a9 %
SR B | AT Ik T e a7 o &4 * 1,50,000 &, ) I ufetes Mifade e # fban 6 w=a
Hg? :

One-third of Manoj’s savings in Kisan Vikas Patra is equal to one-half of his savings in Public

Provident Fund. If he has * 1,50,000 as total savings, how much has he saved in Public
Provident Fund ?

" 60,000

33.

01

7 3hitreh @3 T 3TiEd 20 ® | 39 qEAiaT d O ged 9 T@ R ¢
6 MASTER




The average of 7 consecutive numbers is 20. The largest of these numbers is :
23

2_(76-84)2
34, T EF\' :(76+B4) (76—84) — 9

76X84

. (76+84)2—(76-84)% 2

Simplify : Tox84 =
4

35. V9+445=
2 +4/5

36. “erw” o1 wel Oftr frede 8 -
T+ 39

37. WHYA WS AT~ 3Tl Iroq I o Tl I R R ?
r-aeh

38, “qrR” o qEiEaTE e 8 —
aqt

39. “g=Hl” w1l T g —
TEEY

40. ““hieg BT S BT h1 3 B -
ol g T |

Read the passage carefully and answer the corresponding questions : (Q. 41-42)

Going to an all-boys high school was no fun. Joe’s parents thought it would be a good idea to
send him there instead of a public school because “he would get distracted by gitls,” as his mom
would say. Once, during his third year, Joe begged his mom to let him go to public school. “I just
want to be normal,” he would tell her. “I want to meet girls. I don’t want to be weird.” But his words
always fell on deaf ears. Mom always said that Joe had plenty of time to go on dates after high
school, and that he needed to concentrate on his school work. This usually made him very sad, but
like a good kid, Joe just nodded his head and went on with his studies. That all changed one day
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when Joe met Carmen, who lived just two blocks away from him. One day he ran into her at the
market by chance. They had gone to kindergarten together. They were also of the same age. She
was in Joe’s class, and she remembered Joe, too.

After about two weeks, they were going steady. Joe was so happy, but had to hide his
relationship from his parents, which was okay because Carmen was hiding him from her family,
too! “Are you kidding me ?”” Carmen said, “They would kill me if they knew I had a boyfriend!”
Everything was going great for a time, but Joe’s mom was right. His grades started slipping, and he
soon was on academic probation because he was spending too much of his free time with Carmen.
She also dropped a grade or two. As a result, both of them had to go to summer school to improve
their grades, but Joe didn’t care. He was in love and that was all that mattered at the time. Much

later, he came to realize his mom was right.

41. Joe’s mother did not want him to go to public school because
Joe would get distracted by girls

42. Where did Joe meet Carmen ?
Market

43. Choose the correct synonym : “random”.
accidental

44. Choose the correct antonym : “beautiful”
ugly

45.  Give one word substitute of : “sensitiveness to the action of a particular food”.
Allergy

46. BT ht SR AT T T BT & e, “F geobeila W 1 A Tl w191 2 1" Breaph
fora wrehTe BTicen @ waifem @ 2
01 8 MASTER
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YL I wE
Pointing to Falguni, Hardik said, “The son of her only brother is the brother of my wife.”
How is Falguni related to Hardik ?

Sister of father-in-law

47.

fem T ferehedt o @ STETe hi T KR
Choose the odd one out from the given alternatives :
4125

48.

49.

8:20 5! U Ut o TS 1 T3 37N e ot g3 % i w61 hior 317 BRI |

Find the angle between the hour hand and the minute hand of a clock at 8:20.
130°

forerferRera s 3 < e g 1 # aft 3w =w Fswd (1), (), () w6 (V) R ma | 3w
Forsmi(wf) Wmﬁﬁqsﬁmﬁﬂmﬁﬁqwmm ITERUT LT &/ & |
HYT ;IS LT HeT R R |

- oot fefeerai €
Trrsep |
() i3 ctam el T 2 |
(1) IS fereeft gxama &I & |
1) Ho fafeeri F 8 |
av) avfi fafeemt 5 & |

Sheer (110) ,
In the following question, two statements are given, which are followed by four conclusions (I),
(ID), (I1T) and (IV). Choose the conclusion(s), which logically follow the given statement.
Statement : No door is dog.

All the dogs are cats.

Conclusions :
(I) No door is cat.
(I)  No cat is door.

(III) Some cats are dogs.
(IV) All the cats are dogs.

Only (I1T)

50.

afe SCHEME %! TDIFNF % %9 # Ffed e St 8, & WONDER % f1q &1 e & 2
If SCHEME is coded as TDIFNF, then what is the code for WONDER 9

MASTER 9 01
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31.

Forerferaa o @ =i @ 2w 1202 gt @ weftra § 2
RA — FREA — 0.5, — L TE.T.

Which of the following countries are associated with the ‘I12U2 Grouping’ ?
India — Israel - UAE — USA

52,

IR et ehl U, un. 3, B fa ot 3mmehfifa st o fore -meepim & TTHT I TSI
|1 TSGR h1 R |
arregforn

NASSCOM partners with government agency to attract investment for Indian tech
SMEs.

Australian

53.

LT < TeTfireel aeft T = Bt & # Y % FSIherd T bl de S8 <sh ot
3T N-3& <ht 31mgfd i |
w

state-owned Rosatom recently supplied upgraded N-fuel to India’s Kudankulam
plant with longer fuel cycle.

Russian

54.

‘WWQMWWFSA)%WWW’ﬁWW%Mﬁ T
MR | :
Jnfem

state topped amongst the General Category States in ‘State Ranking Index for National
Food Security Act (NFSA)’.
Odisha

S5.

01

g1, Tig e W g Fraferiad 3 @ fha & & wefa @ 2
ik TS

Dr. Rajendra Prasad Memorial Award is associated with which among the following fields ?

10 MASTER




Public Administration

56.

T 7 8 form T o W % o STid et ol SgETeH fohe T ?
I TG

In which of the following states India’s first ever ‘ Amrit Sarovar’ was inaugurated ?
Uttar Pradesh

37,

Frferfea o @ fopw v o g ) H Frm @ deR e e E
I

Uranium Mining Reserves have been found recently in which of the following states ?
Rajasthan

58.

et o @ form T o gt  Sheffr WAt g, Rig i gro Sy st fram sheamor & e vreg
e ST I T § 7
RIS

In which of the following sfates, Honey Testing Laboratory has been launched by Union
Minister Narendra Singh Tomar for Agriculture and Farmers Welfare at Dimapur ?
Nagaland

59.

Frforfaa & @ for shoeft 3 3eii srem “Sifvareh T e@wTer’ AT YE H R ?

SIS TSt SR SYIR"
Which among the following companies has launched an industry-first ‘Global Health Care’
plan ?

Bajaj Allianz General Insurance

60.

“fernaet u.t.un. whigd 31 Stftherrg 4,931, forer short gro o= R & 7
L

‘Wearable ATM Cards and Offline UPI” has been launched by which company ?
Acemoney

61.

frforiad ® & i & wRa % S fu dm E 7
sfietent; ATl

Which among the following are two neighbouring island countries of India ?
Sri_ Lanka; Maldives
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62. TeferRaa 3 & € sliam fl vaerEh @ ¢
H&he
Which among the following is the capital of Oman ?
Muscat
63. FrefiReada TS g, IR e <hl Tt 721 2 |
TS _
Among the following is not a capital of Union Territory.
Aizawl

64.

FrafarRad # @ S @i @t 6 wum sreas (wfe) & ¢
OIS AR

Who among the following was the first speaker of the Lok Sabha ?
Ganesh Mavlankar

65.

Wﬁ‘aiaﬁﬂaaﬁmﬁaa’%ﬁqmw% ?
1%

“The International Workers’ Day’ is observed on which day in India ?
1 May

66.

PrferRad 3 & e YET ) TSR 1 e e el I 2 7

IGIYL
Which among the following cities is called the ‘White City’ of Rajasthan ?
Udaipur '

67.

01

g wravewrer et & & fope wroer & ameifRra e T R ¢
Rl

12




“The Sangai Festival” is organized in which among the following states ?
Manipur

68. T T STHGHT T TP WA & :
LLEI)

The National Game of the USA is
Baseball

69. famaferfiga o @ foper =aftn % “fie et qeass foreh @ 2
TRTEHT el
Who among the following person wrote the book “Hind Swaraj” ?
Mahatma Gandhi

70. “gia @ (A STRsfeT) i 31 g % 3TTher bl ST | T@ §U S <hl TR 3R
<h1 |9 |
EEURCR GO R
‘Green Accounting’ means measuring the National Income of the country taking into account
estimation of

Pollution and environmental damage

FrafaRaa S=ae I tge I8 T W (K. 71 @ 75) % IR R |

TR TR S S 3 o) Bl O =Ed 9, 3 € e A 3 9 S a1 i bt i sige 3w
6 3 zaef Y & o SITd 2| I < AT b THA T AN b 3T AT o U9 oT| §ga o A A
TS o STIGIer H JSeht Gtehil iehil e B1 of off, afem 1 g@ @ fean o 3tk a8t as6 f 1
10T} 6T HiE deh Bie fear o1l Frdw & a= Sxnwe 36 3w <ht <fia § gwr 1w 3fit sfegra & om0
b &1 & | 37 oft guR QW # SR AaT € S 31enT- 31enT Tdl % W IS §UE | STeweehdl Ue WA
S g Wit SgereRt gl aret # =t ST & | AT 1 i fEeg s i ufod s S e @1 |
<1 e <hT et w1 RRRR AT <1 @1 B1 W, e, fashen 31t ot < gg arel I o 6
U] A TR FTelTieh STATeR0T hIeTgeTqul &1 7141 ]| I8! o ardl st i I | wrran 98 B b et
1 Tedleh Stk 316 3T ST <ITgdl 8, Wol & SHeh! IS T Hi aTell 7 81| 91 sh1 arl glerenaii
SR T G A ST 79 <ht femelt TIT-HErrS & 0 & Trerd | fader STet 7gi gt hd &1 |
7 3T o ToTe wrre—orre) sy fow sira &, 71t shl 9t 2, forehem 31t ot % 318 9 31t e Y e
@Tg STt €, qudt arféat w hiarg IuTel a1 81 A7 SRR |, G, 8 31 9g Hifowl w1 s
H{eh 319 T qeh U ST & | U TSIl S o Jaiehi <! Terd feun fe@md €, uieg 319+ sr<at ot fergwr
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7y Aot §1 A e aE e € o w6 <l & wrera # S IR die @ @ ol | 3wl
=gt o vt Rrfdra giet I arRrerrt 3 it Srrees )

71, ITTTSG o YR T ATEY foh STIerehet % TRreBTsr Fammor e i o fore SiTar 6t i off geferar
1 HRIE I3 & 7 T TEl ST TR ?
T Sfian % fore St =) o <Y =fisl @ <1 arigr S

72. T = €T =TEd 56 s ik Bt 31an iRt o wfe Strees s 7 gl T deh g ST
e e
Frfdar <l a1 <fie =t It Hiea TEETId § SR ST i et 3 STER TR ST 7Y Sarait
% iRt W fanmre ¥ €

73. FrafcTiaa # ST @ gl o Aanatt it i it fostwar oft, < 31t % e # fewr @ vedt 2 ww@
TE T STRBH AT R ?
SISTIE) 2 g 35 e 2y o Qerr e 3 v T o

74, AT AT~ TRRU G, G, €8 TR A el w1 ST Hteh 3794 Tiqed e Uge wTd & | e
T T[S i T § 7 T8 Tl qehgeh ST AT R 7
mamﬁ:qnqaﬁﬂgmml

75. <1 AT UIE R 95 § 7 T UR! aohgh ST R AT R 7
T -ty % forg qorht et Sigent 78 widl # 3t

FrfaRaa srg=ag o vget 48 e vt (3. 76 @ 80) % ST AR |

feremtt =1 gUR Sfta o waifores Taw BiaT 8 | 89 S fomm ot §, 3H wenr ot wrenatt ot e Sftew
T arenfdd id &1 Ife &1 ItHTE 3R 31e o foraml # a2, a Sfie # o1=a "eiail i Aresiid et
T 8 3t 3wk ferdia Farem oiik fn % R Sfem # geenett 0t st 3t wied 1 gEd W
Torvama e <1 8 | afe B0 TRl v 3 3o S Al o g fvere i €, o) fRufy s g @ ik
Ife g 38 Sl # Teh s Tie Wd T&d &, T SHRT Sie T o Sieeni 8 SOOI | &R 19 et
Sfte # wed aTeft e 3R 31U It F 39 gwa hY arien frmeres Rl w1 s e g 2
afg 31T ST, Ieeetar IR AT hl ol A s &, ar ri-ffg 3 aberdn & vga ur &
56 et e, e, T St wieE % wrer forg e fvfy woa e 3 wherar o fauda g g
ey HeteT Ty € ferent @ € 3T 3 ok sror gaTt wireh feuf seerd et 81 3o o S
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shit, i1k, Ferentef $eat, et Refem, w1, P anfe 6 v wer e 29 # st o o e S
ot g e, AR 3T WIeHTeHe ®9 & U1 S wehd 81 SR, ScpewTdT, SETT, TEhH,
Tefererar, wmifd, Y, e, 3 anfe wre TemTers B § Sit o) T ae 3 arere g AT,
rfe SR AheTdT ST Y T Fehdt }1 s ARTieh! 3 SR gRT 59 aeat o ufy ) R o g Ak w
fereml o e <1 & RS At gt Rl S wee wehd €1 98 A weren S ud@ e AR R “an
At WG shaal ag fra: | axft feenatl @ I fomm 30 3w and |

76. Feteiiaa T forg ol % wft v T & 7

77.  BESHer s AT 3 SR Y WAEIR ?
S shie, ek, $5l, i, s anf wraeh wevTe o wo b ot diear @ & iR
U § |

78. B ereai Y o of & e ey 35 R 2 o e =R 2
AR Tvfers B feremt @ e i wem =i |

79. 3T G ohl ST S el ST AT R 7
319 AfGseh % ol ot e St erTaR WA Rl g |

80. &4 HH-fafEg s Thea F A TE FT IR S ?
msﬂm,aammaﬂtmﬁmﬁaﬁﬁﬁaﬁﬁﬁaéﬂﬁl

. 81 % 85 : F= arfetent wes wlien o wma w2 3tem- W%ﬁuﬁﬁmm%uﬁmﬁwﬁﬁ
%lmﬁﬁwum@mw%qqam%waﬁq

Q. 81 to 85 : The following table gives the percentage of marks obtained by seven students in six
different subjects in an examination. Read the data carefully and answer the questions :

A

(f\?Tl YTy d‘])
_= & ]“l 17“.;‘*7
‘V'?'fi'*"i'\‘" AT TG sy

i .
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Tarera (srftrerem 3i) / Subject (Max. Marks)
we / |sfor /| fom / | st / ﬁ?:/ ot/ | v/
Student| History | Maths | English Hindi |Computer

Biology

(150) | (130) | (120) | (100) | (60) | (40)
aifwa/| 65 35 50 77 80 80
Ankit
Teiw /.| 80 65 85 95 50 90
| Brifesh
o/ | 90 60 70 70 90 70
Chirag
fgeim /| 70 75 65 85 | 40 60
Divyesh
g / 90 50 90 60 70 80
| Ehan
wEw | 100 80 80 40 80 70
/ Farnk
wam/ [ 80 65 80 80 60 60
|Gautam

81.

st ® weft | Sl g T T St 3k fhae @ 7
What are the approximate average marks obtained by all the seven students in English ?
89

82.

aeft ot o 60% 21 3HR 1Mk 3ie e T AT BT bl wE ke B 7
The number of students who obtained 60% and above marks in all subjects are :
2

83.

¥t wg forai # wem g e et 3iek fehem @ 7
What was the aggregate marks obtained by Ehan in all the six subjects ?
442 i

84.

e o & fore T o e v =am @ ¢
Tfra

In which subject the overall percentage is lowest ?
Maths

85.

01

oIS T Het fomrd () Tpa B 7

What is the overall percentage (approximate) of Brijesh ?

16




78%

9. 86 & 90 : =1 WftrerT b1 GraErFyes SreRM HIRTT St et % ST aRT |

o
i

o ot o X st gra ffifa (gom #) 5 w6 R (A, B, C, D, E) ! T & 3ifers il fed o

Q. 86 to 90 : Study the following table carefully and answer the questions.
Data of Number of 5 types of cars (A, B, C, D, E) manufactured (in thousand) by company X over
the years given below :

TR & THR / Types of car
a9 / A B C D E

Year
2016 230 200 125 130 |° 115
2017 240 220 228 165 212
2018 250 215 212 230 218
2019 260 215 230 220 125
2020 230 135 240 120 120
2021 255 130 250 220 130

86.

a9 2016 ¥ 2021 % S X ot gra fffa R o & fore srenR oY s <t W a2 7

Which type of cars manufactured by company X during 2016 to 2021 is the maximum ?
A

87.

¥ 2016 ¥ 2021 T BT A’ o Iedqre § SR i e sl =6 ot 7

What was the approximate percentage increase in the production of car ‘A’ from 2016 to 2021
? .

10.87%

88.

ot i 4 forw sropm 61 R % Seure W g ool I 7
Which type of car registered continuous increase in production over the years ?

T A 1S 7Ef / None of these

89.

1 2016 T R “E> 1 Ieared, 51§ 2019 H HR B b Sedlert 1 ST Rba R o 7
The production of car ‘E’ in the year 2016 was approximately what percent of the production
of car ‘B’ in the year 2019 ?

53.5%

90.

MASTER 17 Q 01
’ ( I =T .GHZI-I“\;_-I'.;;;,'}, )

T 2018 & 2021 o ENH SR D’ °h IcuTeA B T fohe sl ot st g 7

What was the approximate percentage decrease in production of car ‘D’ from 2018 to 2021 ?
4.35%
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W. 919 95 : =1 =1 weh qaren o webre o Fordl TR el b1 wfersrar ferereor awifan @ | ot = 61 sreem

e 3T 38 w3 g9t % I S ;

Q. 91 to 95 : The following chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie chart and answer the questions based on it :

Hau+ wImTd
‘ Promotion cost
yiEg e 5%

Transportation cost
5%

™
N, BRTS] ST
1\ Paper cost

30%

Binding cost Printing cost
16% 25%

91.

fe qehi <l Tk fAfPra wmaT % fTT sehreies Y 20,600 TE0 @RI % ®9 H AT R, AT
! foTe et bt Rt e & Bt 7
If for a certain quantity of books, the publisher has to pay * 20,600 as printing cost, then what

will be the amount of royalty to be paid for these books ? .
16,480

92.

I AT TR TR T e o 1Y @UE (V) T held HI TR 7

What is the central angle of the sector corresponding to the expenditure incurred on promotion
cost ?

18°

93.

01

T 1 Hed, T e § 20% FR 3ifha forem ma B | afe geaes w1 aifea o * 160 B, <t
YTk hl Teh ST H ITRT foRd TR St hl era R R 7
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The price of the book is marked 20% above the Cost Price If the marked price of the book is
" 160, then what is the cost of the paper used in a single copy of the book ?
“40

94, g 5200 R w1 SRR fome 7T i SRl aiters @ <6 Ui 80,500 &, o Edeh sl 1A
Torsher v @ It =i e SrehTsTeh 25% <1 ot 31iid ot deh ?

If 5200 copies are published and the transportation cost on them amounts to * 80,500, then what
should be the approximate selling price of the book so that the publisher can earn a profit of 25% ?
" 387.02

95, YEdeh shi Uaee!, GEUT T & fepe Ifasra s & 2

Royalty on the book is less than the printing cost by :
20%

W, 96 ¥ 100 : =1 W1 U Teh Shu g o 2001 & 2007 % SO FR T 37T Y T B 39
it Tt <t wehw o1 ST guiar 8

Q. 96 to 100 : The following line graph gives the ratio of the amount of imports by a company to
the amount of exports from that company over the period from 2001 to 2007 :

e & ot # w S e Pt e s

Ratio of Value of Imports to Exporisby a

Company Over the Years
3 18 i%
L5 2 P
g it T e
05 TN 03 /
S~

2001 2002 2003 2004 2005 2006 2007
T / Vears

96. =fE ad 2004 # TRATT * 240 HUg o1 I o 2004 T 2005 1 Fo T Frra * 500 FHS T,
at o 2005 # 3T fehdeT AT ?

* 450 U

If the imports in 2004 was * 240 crores and the total exports in the years 2004 and 2005
together was * 500 crores, then the imports in 2005 was :
" 450 crores
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97, fore o sherelt o s, Fata % steqam srgaiee & ¢

The imports were minimum proportionate to the exports of the company in the year :
2003

98. = 2003 & 2004 ek 7RIl # e whirera gfig g8 oft 7

What was the percentage increase in imports from 2003 to 2004 ?

S AW / Data inadequate

99. ¢ 2002 H U T IR * 260 HUS AT, @ 2002 T sHof & Fafa o

‘325 WS

If the imports of the company in 2002 was * 260 crores, then exports from the company in
2002 was :

* 325 crores

100. &3 72 ot & & fepe =t # Frarfa, smama & sfes o7 7

In how many of the given years were the exports more than the imports ?
4

01

9

( e ST )
wen fFraae
iRl Jar =AM
TS
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